



Name: _____

Datum: _____ Ergebnis: _____

$$\left(\frac{1}{5}\right)^2 - \frac{1}{2} =$$

$$\left(-\frac{2}{5}\right)^0 + \frac{1}{2} =$$

$$\left(\frac{2}{5}\right) + \left(-\frac{2}{5}\right) =$$

$$\left(\frac{1}{2}\right)^3 + \frac{1}{4} =$$

$$\left(-\frac{1}{3}\right) + \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{4}\right)^3 - \frac{3}{4} =$$

$$\left(\frac{3}{4}\right)^2 + \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{3}{4}\right)^0 + \left(-\frac{1}{3}\right) =$$

$$\left(\frac{1}{6}\right)^0 + \frac{1}{6} =$$

$$\left(\frac{1}{6}\right)^3 - \frac{3}{5} =$$

$$\left(-\frac{3}{5}\right)^2 + \left(-\frac{3}{5}\right) =$$

$$\left(\frac{1}{3}\right)^3 + \left(-\frac{1}{3}\right) =$$

$$\left(\frac{1}{4}\right)^2 - \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{3}{5}\right)^2 + \frac{3}{4} =$$

$$\left(-\frac{1}{4}\right) - \frac{2}{5} =$$

$$\left(-\frac{1}{2}\right)^2 - \frac{1}{3} =$$

$$\left(\frac{1}{3}\right)^0 + \left(-\frac{1}{4}\right) =$$

$$\left(-\frac{1}{4}\right)^2 - \frac{1}{2} =$$

$$\left(-\frac{1}{3}\right)^2 + \frac{1}{2} =$$

$$\left(-\frac{3}{5}\right)^3 - \left(-\frac{1}{3}\right) =$$



Name: _____

Datum: _____ Ergebnis: _____

$$\left(\frac{1}{5}\right)^2 - \frac{1}{2} = \left(-\frac{23}{50}\right)$$

$$\left(-\frac{2}{5}\right)^0 + \frac{1}{2} = \frac{3}{2} = 1\frac{1}{2}$$

$$\left(\frac{2}{5}\right) + \left(-\frac{2}{5}\right) = 0$$

$$\left(\frac{1}{2}\right)^3 + \frac{1}{4} = \frac{3}{8}$$

$$\left(-\frac{1}{3}\right) + \left(-\frac{1}{2}\right) = \left(-\frac{5}{6}\right)$$

$$\left(-\frac{1}{4}\right)^3 - \frac{3}{4} = \left(-\frac{49}{64}\right)$$

$$\left(\frac{3}{4}\right)^2 + \left(-\frac{1}{3}\right) = \frac{11}{48}$$

$$\left(-\frac{3}{4}\right)^0 + \left(-\frac{1}{3}\right) = \frac{2}{3}$$

$$\left(\frac{1}{6}\right)^0 + \frac{1}{6} = \frac{7}{6} = 1\frac{1}{6}$$

$$\left(\frac{1}{6}\right)^3 - \frac{3}{5} = \left(-\frac{643}{1080}\right)$$

$$\left(-\frac{3}{5}\right)^2 + \left(-\frac{3}{5}\right) = \left(-\frac{6}{25}\right)$$

$$\left(\frac{1}{3}\right)^3 + \left(-\frac{1}{3}\right) = \left(-\frac{8}{27}\right)$$

$$\left(\frac{1}{4}\right)^2 - \left(-\frac{1}{6}\right) = \frac{11}{48}$$

$$\left(-\frac{3}{5}\right)^2 + \frac{3}{4} = \frac{111}{100} = 1\frac{11}{100}$$

$$\left(-\frac{1}{4}\right) - \frac{2}{5} = \left(-\frac{13}{20}\right)$$

$$\left(-\frac{1}{2}\right)^2 - \frac{1}{3} = \left(-\frac{1}{12}\right)$$

$$\left(\frac{1}{3}\right)^0 + \left(-\frac{1}{4}\right) = \frac{3}{4}$$

$$\left(-\frac{1}{4}\right)^2 - \frac{1}{2} = \left(-\frac{7}{16}\right)$$

$$\left(-\frac{1}{3}\right)^2 + \frac{1}{2} = \frac{11}{18}$$

$$\left(-\frac{3}{5}\right)^3 - \left(-\frac{1}{3}\right) = \frac{44}{375}$$